N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy [N of associated (recoTosim) looper tracks vs dxy

1%} F (%] F [%] F
X F X F X
g of 8 of g
H0°E =10°F £10
F o F [}
E 2 F T
- =1 o
10k g
E E =)
E E ©
10° 3 E
3 10°F
E 10

bOI[QLL) dJ'T T
SonQCD ckfplerLessStep
0 [* S

oS O O O O O [o v v v v
K - ﬂ A R LR L E | EERREEE B2 RS -
0'—“4J—20 15 1U -5 0 5 10 15 20 25 0'—1J 20 15 1L 5 0 5 lO 15 20 25 0'—“45—20—15—10 -5 0 5 10 15 20 25 0'—49 20 15 1u 5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of associated (recoToSim) tracks vs dz_] N of associated (recoToSim) looper tracks vs dz |
2 L 2 F
[=} [=} [=}
g S g
ol 103 010
= &0 b
= = ke
=
10° 310

[N
(=}
)

10

I : HHE
o : : o
@ . . o
—20 -10 0 10 20 3 0 0955

=30 -20 -10 O 10 20 30

o
3
o

1111 1

90 20 -10 0 10 20 30

20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


